       首届黑龙江大学“外研杯”大学英语分项技能系列大赛——阅读大赛试题

	                                                                
	装

订

线
	首届黑龙江大学“外研杯”大学英语分项技能系列大赛——阅读大赛试题
题
号
I
II

III

总分
评卷人
分
数
10

30

60

100

__

得
分
得分

评卷人

Part I Cloze (10 points, 1 point each)
Directions: Fill in the blanks with appropriate words where necessary.

Scholarship is __1__ definition, a communal act. Disseminating or sharing knowledge makes the work of academic life complete. Consider __2__ we always say “research and publication” suggesting that scholarly investigation takes __3__ meaning only when it is passed on to others, which might be considered an act of teaching. Surly, teaching undergraduates can be an authentic form of scholarly work.

The simple truth is that almost all of us __4__ where we are today because of the inspiration of an inspiring teacher. Yet, on far too many campuses, it is deemed better for a professor to __5__ a paper at the Hyatt in Chicago __6__ to teach undergraduates back home. And it’s really sad the way we speak __7 _ research “opportunities” and teaching “loads.”
Giving teaching such a low priority has a profoundly __8__ influence on liberal learning. Young scholars often observe that. __9__ of catalog commitment to general education, the reality is that too much time with students will, in __10__, jeopardize their careers.
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Part II Reading in Depth(30 points, 2 points each)
Directions: There are 3 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C and D. You should decide on the best choice.
Passage 1
The idea of building “New Towns” to absorb growth is frequently considered a cure-all for urban problems. It is erroneously assumed that if new residents can be diverted from existing centers, the present urban situation at least will get no worse. It is further and equally erroneously assumed that since European New Towns have been financially and socially successful, we can expect the same sorts of resorts in the United States.

Present planning, thinking, and legislation will not produce the kinds of New Town that have been successful abroad. It will multiply suburbs or encourage development in areas where land is cheap and construction profitable rather than where New Towns are genuinely needed.

Such ill-considered projects not only will fail to relieve pressures on existing cities but will, in fact, tend to weaken those cities further by drawing away high-income citizens and increasing the concentration of low income groups that are unable to provide tax income. The remaining tax-payers, accordingly, will face increasing burdens, and industry and commerce will seek escape. Unfortunately, 
	this mechanism is already at work in some metropolitan areas.
The promoters of New Towns so far in the United States have been developers, builders, and financial institutions. The main interest of these promoters is economic gain. Furthermore, federal regulations designed to promote the New Town idea do not consider social needs as the European New Town plans do. In fact, our regulations specify virtually all the ingredients of the typical suburban community, with a bit of political rhetoric thrown in.

A workable American New Town formula should be established as firmly here as the national formula was in Britain. All possible social and governmental innovation as well as financial factors should be thoroughly considered and accommodated in this policy. Its objectives should be clearly stated, and both incentives and penalties should be provided to ensure that the objectives are pursued. If such a policy is developed, then the New Town approach can play an important role in alleviating America’s urban problems.

11. The author's attitude toward the idea of building New Towns in America is that ________.

A. it is a cure-all for urban problems

B. it will make success in America

C. it is a good idea but is not properly considered

D. it shall adopt European formula

12. Which of the following statements about European New Towns is NOT true?

A. They have been both financially and socially successful.

B. They have relieved the pressures on big cities.

C. The basic aim of building new towns is economic gain.

D. All social and governmental problems have been taken into account.

13. According to the author, the present planning of New Towns in America will weaken existing cities because ________.

A. it will draw away the rich citizens

B. it will increase the concentration of low-income people

C. it will drive away industry and commerce because of the increasing tax burdens

D. all of the above

14. The purpose of building New Towns in America is ________.

A. to develop suburban area

B. to improve urban situation

C. to gain economic interest

D. to provide new residence for low-income people


15. The author thinks that the New Town project will not succeed unless ________. 

A. all factors involved have been taken into serious account

B. people are diverted from the existing centers

C. the promoters stop seeking economic gain

D. the government has invested much more money in it

Passage 2
    There are many theories about the beginning of drama in ancient Greece. The one most widely accepted today is based on the assumption that drama evolved from ritual. The argument for this view goes as follows. In the beginning, human beings viewed the natural forces of the world, even the seasonal changes, as unpredictable, and they sought through various means, to control these unknown and feared powers. Those measures which appeared to bring the desired results were then retained and repeated until they hardened into fixed rituals. Eventually stories arose which explained 
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	or veiled the mysteries of the rites. As time passed some rituals were abandoned, but the stories, later called myths, persisted and provided material for art and drama. 
Those who believed that drama evolved out of ritual also argue that those rites contained the seed of theater because music, dance, masks, and costumes were almost always used. Furthermore, a suitable site had to be provided for performances, and when the entire community did not participate, a clear division was usually made between the "acting area" and the "auditorium". In addition, there were performers, and, since considerable importance was attached to avoiding mistakes in the enactment of rites, religious leaders usually assumed that task. Wearing masks and costumes, they often impersonated other people, animals, or supernatural beings, and mimed the desired effect-success in hunt or battle, the coming rain, the revival of the Sun-as an actor might. Eventually such dramatic representations were separated from religious activities.  

Another theory traces the theater’s origin from the human interest in storytelling. According to this view, tales (about the hunt, war, or other feats) are gradually elaborated, at first through the use of impersonation, action, and dialogue by a narrator and then through the assumption of each of the roles by a different person. A closely related theory traces theater to those dances that are primarily rhythmical and gymnastic or that are imitations of animal movements and sounds.
16. What does the passage mainly discuss? 

A. The origins of theater.    

B. The role of ritual in modern dance. 

C. The importance of storytelling. 
D. The variety of early religious activities.  

17. What aspect of drama does the author discuss in the first paragraph?  

A. The reason drama is often unpredictable. 

B. The seasons in which dramas were performed. 

C. The connection between myths and dramatic plots. 

D. The importance of costumes in early drama.  

18. Which of the following is NOT mentioned as a common element of theater and ritual? 

A. Dance.

B. Costumes.

C. Music.

D. Magic.  

19. According to the passage, what is the main difference between ritual and drama? 

A. Ritual uses music whereas drama does not. 

B. Ritual is shorter than drama. 

C. Ritual requires fewer performers than drama. 

D. Ritual has a religious purpose and drama does not.
20. The passage supports which of the following statements? 

A. No one really knows how the theater began. 

B. Myths are no longer represented dramatically. 

C. Storytelling is an important part of dance. 

D. Dramatic activities require the use of costumes.

Passage 3
The period of adolescence, i. e. the period between childhood and adulthood, may be long or short, depending on social expectations and on society’s definition as to what constitutes maturity and adulthood. In primitive societies adolescence was frequently a relatively short period of time, while in industrial society with patterns of prolonged education coupled with laws against child labor, the period of adolescence is much longer and may include most of the second decade of one' s life. Furthermore, the length of the adolescent period and the definition of adulthood status may change in a given society as social and economic conditions change. Examples of this type of change are the disappearance of the 
	frontier in the latter part of the nineteenth century in the United States, and more universally, the industrialization of an agricultural society.

In modern society, ceremonies for adolescence have lost their formal recognition and symbolic significance and there no longer is agreement as to what constitutes initiation ceremonies. Social ones have been replaced by a sequence of steps that lead to increased recognition and social status. For example, grade school graduation, high school graduation and college graduation constitute such a sequence, and while each step implies certain behavioral changes and social recognition, the significance of each depends on the socio-economic status and the educational ambition of the individual. Ceremonies for adolescence have also been replaced by legal definitions of status, roles, rights, privileges and responsibilities. It is during the nine years from the twelfth birthday to the twenty-first that the protective and restrictive aspects of childhood and minor status are removed and adult privileges and responsibilities are granted. The twelve-year-old is no longer considered a child and has to pay full fare for train, airplane, theater and movie tickets. Basically, the individual at this age loses childhood privileges without gaining significant adult rights. At the age of sixteen the adolescent is granted certain adult rights which increase his social status by providing him with more freedom and choices. He now can obtain a driver’s license; he can leave public schools; and he can work without the restrictions of child labor laws. At the age of eighteen the law provides adult responsibilities as well as rights. The young man can now be a soldier, but he also can marry without parental permission. At the age of twenty-one the individual obtains his full legal rights as an adult. He now can vote, he can buy liquor, he can enter into financial contracts, and he is entitled to run for public office. No additional basic rights are acquired as a function of age after maturity status has been attained. None of these legal provisions determine at what points adulthood has been reached but they do point to the prolonged period of adolescence.

21. The period of adolescence is much longer in industrial societies because ________.

A. the definition of maturity has changed

B. the industrialized society is more developed

C. more education is provided and laws against child labor are made

D. ceremonies for adolescence have lost their formal recognition and symbolic significance

22. Former social ceremonies that used to mark adolescence have given place to ________.

A. graduations from schools and colleges

B. social recognition

C. socio-economic status

D. certain behavioral changes

23. No one can expect to fully enjoy the adulthood privileges until is________.

A. eleven years old

B. sixteen years old

C. twenty-one years old

D. between twelve and twenty-one years old

24. Starting from 22 ________.

A. one will obtain more basic rights

B. the older one becomes, the more basic rights he will have

C. one won’t get more basic rights than when he is 21

D. one will enjoy more rights granted by society
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	25. According to the passage, it is TRUE that ________.

A. in the late 19lh century in the United States the dividing line between adolescence and adulthood no longer existed

B. no one can marry without the permission of his parents until the age of twenty-one

C. one is considered to have reached adulthood when he has a driver' license

D. one is not free from the restrictions of child labor laws until he can join the army
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Part III Reading (60 points, 1 point each for questions 26-38,  2 points each for 39-46, and 1 point each for 47-77)
Section A
Directions: There are 2 passages in this section. Each passage is followed by some questions. Questions 26-38 are based on reading passage 1.
Passage 1

Adults and children are frequently confronted with statements about the alarming rate of loss of tropical rainforests. For example, one graphic illustration to which children might readily relate is the estimate that rainforests are being destroyed at a rate equivalent to one thousand football fields every forty minutes – about the duration of a normal classroom period. In the face of the frequent and often vivid media coverage, it is likely that children will have formed ideas about rainforests – what and where they are, why they are important, what endangers them – independent of any formal tuition. It is also possible that some of these ideas will be mistaken.

Many studies have shown that children harbor misconceptions about ‘pure’, curriculum science. These misconceptions do not remain isolated but become incorporated into a multifaceted, but organized, conceptual framework, making it and the component ideas, some of which are erroneous, more robust but also accessible to modification. These ideas may be developed by children absorbing ideas through the popular media. Sometimes this information may be erroneous. It seems schools may not be providing an opportunity for children to re-express their ideas and so have them tested and refined by teachers and their peers.

Despite the extensive coverage in the popular media of the destruction of rainforests, little formal information is available about children’s ideas in this area, the aim of the present study is to start to provide such information, to help teachers design their educational strategies to build upon correct ideas and to displace misconceptions and to plan programs in environmental studies in their schools.

The study surveys children’s scientific knowledge and attitudes to rainforests. Secondary school children were asked to complete a questionnaire containing five open-form questions. The most frequent responses to the first question were descriptions which are self-evident from the term ‘rainforest’. Some children described them as damp, wet or hot. The second question concerned the geographical location of rainforests. The commonest responses were continents or countries: Africa (given by 43% of children), south America (30%), Brazil (25%). Some children also gave more general locations, such as being near the Equator.

    Responses to question three concerned the importance of rainforests. The dominant idea, raised by 64% of the pupils, was that rainforests provide animals with habitats. Fewer students responded that rainforests provide plant habitats, and even fewer (60%) raised the idea of rainforest as animal habitats.

    Similarly, but at a lower level, more girls (13%) than boys (5%) said that rainforests provided human habitats. These observations are generally consistent with our previous studied of pupils’ views about the use and conservation of rainforests, in which girls were shown to be more sympathetic to animals and expressed views which seem to place an intrinsic value on non-human animal life.
	The fourth question concerned the causes of the destruction of rainforests. Perhaps encouragingly, more than half of the pupil (59%) identified that it is human activities which are destroying rainforests, some personalizing the responsibility by the use of terms such as ‘we are’. About 18% of the pupils referred specifically to logging activity.

    One misconception, expressed by some 1% of the pupils, was that acid rain is responsible for rainforest destruction; a similar proportion said that pollution is destroying rainforests. Here, children are confusing rainforest destruction with damage to the forests of Western Europe by these factors. While two fifths of the students provided the information that the rainforests provide oxygen, in some cases this response also embraced the misconception that rainforest destruction would reduce atmospheric oxygen, making the atmosphere incompatible with human life on Earth.

    In answer to the final question about the importance of rainforest conservation, the majority of children simply said that we need rainforests to survive. Only a few of the pupils (6%) mentioned that rainforest destruction may contribute to global warming. This is surprising considering the high level of media coverage on this issue. Some children expressed the idea that the conservation of rainforests is not important.

    The results of this study suggest that certain ideas predominate in the thinking of children about rainforests. Pupils’ responses indicate some misconceptions in basic scientific knowledge of rainforests ecosystems such as their ideas about rainforests as habitats for animals, plants and humans and the relationship between climatic change and destruction of rainforests.

Pupils did not volunteer ideas that suggested that they appreciated the complexity of causes of rainforest destruction. In other words, they gave no indication of an appreciation of either the rage of ways in which rainforests are important or the complex social, economic and political factors which drive the activities which are destroying the rainforests. One encouragement is that the results of similar studies about other environmental issues suggest that older children seem to acquire the ability to appreciate, value and evaluate conflicting views. Environmental education offers an arena in which these sills can be developed, which is essential for these children as future decision –makers.
Questions 26-33
Do the following statements agree with the information given in reading passage 1?

On your answer sheet write 

 T for TRUE         if the statement agrees with the information

 F for FALSE        if the statement contradicts the information

 NG for NOT GIVEN   if there is no information on this 
26. The plight f the rainforests has largely been ignored by the media.

27. Children only accept opinions on rainforests that they encounter in their classroom.

28. It has been suggested that children hold mistaken views about the ‘pure’ science that they study at school.

29. The fact that children’s ideas about science form part of a larger framework of ideas means that it is easier to change them.

30. The study involved asking children a number of yes/no questions such as ‘Are there any rainforests in Africa?’
31. Girls are more likely than boys to hold mistaken views about the rainforest’ destruction.
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	32. The study reported here follows on from a series of studies that have looked at children’s understanding of rainforests.

33. A second study has been planned to investigate primary school children’s ideas about rainforests.

Questions 34-38

The box below gives a list of responses A-P to the questionnaire discussed in reading passage 1.

Answer the following questions by choosing the correct responses A-P. Write your answers on your answer sheet.

34. What was the children’s most frequent response when asked where the rainforest were?

35. What was the most common response to the question about the importance of the rainforests?

36. What did most children give as the reason for the loss of the rainforests?

37. Why did most children think it important for the rainforests to be protected?

38. Which of the responses is cited as unexpectedly uncommon, given the amount of time spent on the issue by the newspapers and television?

A. There is a complicated combination of reasons for the loss of the rainforests.

B. The rainforests are being destroyed by the same things that are destroying the forests of Western Europe.

C. Rainforests are located near the Equator.

D. Brazil is home to the rainforests.

E. Without rainforest some animals would have nowhere to live.

F. Rainforests are important habitats for a lot of plants.

G. People are responsible for the loss of the rainforests.

H. The rainforests are a source of oxygen.

I. Rainforests are of consequence for a number of different reasons.

J. As the rainforests are destroyed, the world gets warmer.

K. Without rainforests there would not be enough oxygen in the air.

L. There are people for whom the rainforests are home.

M. Rainforests are found in Africa.

N. Rainforests are not really important to human life.

O. The destruction of the rainforests is the direct result of logging activity.

P. Humans depend on the rainforests for their continuing existence.

Questions 39-46 are based on reading passage 2.
Passage 2

Volcanoes——earth-shattering news

When Mount Pinatubo suddenly erupted on 9 June 1991, the power of volcanoes past and present again hit the headlines

A  Volcanoes are the ultimate earth-moving machinery. A violent eruption can blow the top few kilometers off a mountain, scatter fine ash practically all over the globe and hurl rock fragments into the stratosphere to darken the skies a continent away.

But the classic eruption – cone-shaped mountain, big bang, mushroom cloud and surges of molten lava – is only a tiny part of a global story. Vulcanism, the name given to volcanic processes, really has shaped the world. Eruptions have rifted continents, raised mountain chains, constructed islands and shaped the topography of the earth. The entire ocean floor has a basement of volcanic basalt.


	Volcanoes have not only made the continents, they are also thought to have made the world’s first stable atmosphere and provided all the water for the oceans, rivers and ice-caps. There are now about 600 active volcanoes. Every year they add two or three cubic kilometers of rock to the continents. Imagine a similar number of volcanoes smoking away for the last 3,500 million years. That is enough rock to explain the continental crust.

What comes out of volcanic craters is mostly gas. More than 90% of this gas is water vapor from the deep earth: enough to explain, over 3,500 million years, the water in the oceans. The rest of the gas is nitrogen, carbon dioxide, sulphur dioxide, methane, ammonia and hydrogen. The quantity of these gases, again multiplied over 3,500 million years, is enough to explain the mass of the world’s atmosphere. We are alive because volcanoes provided the soil, air and water we need.

B   Geologists consider the earth as having a molten core, surrounded by a semi-molten mantle and a brittle, outer skin. It helps to think of a soft-boiled egg with a runny yolk, a firm but squishy white and a hard shell. If the shell is even slightly cracked during boiling, the white material bubbles out and sets like a tiny mountain chain over the crack – like an archipelago of volcanic islands such as the Hawaiian Islands. But the earth is so much bigger and the mantle below is so much hotter.

Even though the mantle rocks are kept solid by overlying pressure, they can still slowly ‘flow’ like thick treacle. The flow, thought to be in the form of convection currents, is powerful enough to fracture the ‘eggshell’ of the crust into plates, and keep them bumping and grinding against each other, or even overlapping, at the rate of a few centimeters a year. These fracture zones, where the collisions occur, are where earthquakes happen. And, very often, volcanoes.
C   These zones are lines of weakness, or hot spots. Every eruption is different, but put at its simplest, where there are weaknesses, rocks deep in the mantle, heated to 1,350 centigrade, will start to expand and rise. As they do so, the pressure drops, and they expand and become liquid and rise more swiftly.

Sometimes it is slow: vast bubbles of magma – molten rock from the mantle – inch towards the surface, cooling slowly, to show through as granite extrusions (as on Skye, or the Great Whin Sill, the lava dyke squeezed out like toothpaste that carries part of Hadrian’s Wall in northern England). Sometimes – as in Northern Ireland, Wales and the Karoo in South Africa – the magma rose faster, and then flowed out horizontally on to the surface in vast thick sheets. In the Deccan plateau in western India, there are more than two million cubic kilometers of lava, some of it 2,400 meters thick, formed over 500,000 years of slurping eruption.

Sometimes the magma moves very swiftly indeed. It does not have time to cool as it surges upwards. The gases trapped inside the boiling rock expand suddenly, the lava glows with heat, it begins to froth, and it explodes with tremendous force. Then the slightly cooler lava following it begins to flow over the lip of the crater. It happens on Mars, it happened on the moon, it even happens on some of the moons of Jupiter and Uranus. By studying the evidence, vulcanologists can read the force of the great blasts of the past. Is the pumice light and full of holes? The explosion was tremendous. Are the rocks heavy, with huge crystalline basalt shapes, like the Giant’s Causeway in Northern Ireland? It was a slow, gentle eruption.

The biggest eruptions are deep on the mid-ocean floor, where new lava is forcing the continents apart and widening the Atlantic by perhaps five centimeters a year. Look at maps of volcanoes, earthquakes and island chains like the Philippines and Japan, and you can see the rough outlines 
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	of what are called tectonic plates – the plates which make up the earth’s crust and mantle. The most dramatic of these is the Pacific ‘ring of life’ where there have been the most violent explosions – Mount Pinatubo near Manila, Mount St Helen’s in the Rockies and El Chichon in Mexico about a decade ago, not to mention world-shaking blasts like Krakatoa in the Sunda Straits in 1883.

D   But volcanoes are not very predictable. That is because geological time is not like human time. During quiet periods, volcanoes cap themselves with their own lava by forming a powerful cone from the molten rocks slopping over the rim of the crater; later the lava cools slowly into a huge, hard, stable plug which blocks any further eruption until the pressure below becomes irresistible. In the case of Mount Pinatubo, this took 600 years.

Then, sometimes, with only a small warning, the mountain blows its top. It did this at Mont Pelee in Martinique at 7.59 a.m. on 8 May, 1902. Of a town of 28,000, only two people survived. In 1815, a sudden blast removed the top 1,280 meters of Mount Tambora in Indonesia. The eruption was so fierce that dust thrown into the stratosphere darkened the skies, canceling the following summer in Europe and North America. Thousands starved as the harvests failed, after snow in June and Frosts in August. Volcanoes are potentially world news, especially the quiet ones.

Questions 39-42
Answer the questions below using NO MORE THAN THREE WORDS AND/OR A NUMBER from reading passage 2 for each answer. Write your answers on your answer sheet.

39. What are the sections of the earth’s crust, often associated with volcanic activity, called?

40. What is the name given to molten rock from the mantle?

41. What is the earthquake zone on the Pacific Ocean called?

42. For how many years did Mount Pinatubo remain inactive?

Questions 43-46
Complete the summary below.

Choose NO MORE THAN TWO WORDS from the passage for each answer. Write your answers on your answer sheet.

Volcanic eruptions have shaped the earth’s land surface. They may also have produced the world’s atmosphere and __43__. Eruptions occur when molten rocks from the earth’s mantle rise and expand. When they become liquid, they move more quickly through cracks in the surface. There are different types of eruption. Sometimes the __44__ moves slowly and forms outcrops of granite on the earth’s surface. When it moves more quickly it may flow out in thick horizontal sheets. Examples of this type of eruption can be found in Northern Ireland, Wales, South Africa and __45__. A third type of eruption occurs when the lava emerges very quickly and __46__ violently. This happens because the magma moves so suddenly that trapped gases are emitted.
Section B 
Directions: There are 2 passages in this section and a set of questions about each of them. In the passages, definitions and explanations are provided for some underlined words at the end of the passage.
Questions 47-63 are based on reading passage 1.

Passage 1

1   Lichens look like splashes of paint left behind by a careless painter. Unlike many plants, they do
	not require soil to grow. They grow on the bark of trees in steaming tropical rain forests, on farmers' fenceposts, on the bricks of big-city buildings, and on old gravestones. Lichens can tolerate extremes of climate. They grow on rocks in hot springs, on wind-swept mountaintop boulders, and on stones in the driest deserts. In the Arctic, lichens, known as reindeer moss, are the principal source of food for caribou. Whole mountainsides in Antarctica appear green and orange because of the presence of lichens; they are one of the few plants that can survive there. They are among the oldest of known plants. Recently, scientists discovered lichen fossils on a rock in a phosphate mine in southwest China that date back 600 million years.
2   When conditions become harsh, lichens become dormant. If there is not enough moisture, they simply dry up, but a short rain or even a heavy dew gives them new life. When growing on rock surfaces, lichens secrete acids that dissolve the minerals, contributing to the process of weathering by which rocks are slowly turned to soil. This property enables lichens to be pioneers. They appear on barren rock scoured clean by glaciers, fires, lava flows, or floods, beginning the process of soil formation that allows mosses, ferns, and other plants to later take root. But, despite their hardiness, lichens are extremely sensi​tive to airborne particles. That's why they serve as an early warning system for air pollution.

3   It is the acids lichen produce that give them their distinctive colors. Lichens are often spoken of in the same breath as mosses, and some lichens are even called mosses, but true mosses are all distinctively green, whereas lichens appear in many vivid colors. At one time, before the invention of aniline dyes, acids from lichens were used to make dyes, such as the purple dye orchil, the blue dye litmus, and the red dye cudbear, and they are sometimes still used that way today. Some lichens, such as oak moss, contain oils that produce fragrant odors used in scented soaps, cosmetics, and perfumes. Some lichens are also known to have antibiotic properties.
4   Lichens are a partnership of two or more types of plants, a fungus and a type of algae. If you look at the lichen body through a magnifying glass, you will see that it is made up of a tangled mass of fungal strands called hyphae. In the upper layer of these hyphae grow colonies of another type of plant. These are most commonly green algae but are sometimes blue-green algae.

5   The two types of organisms live together to the benefit of both, a relation​ship known as symbiosis. The fungus provides support for the algae and protects the tender algae from direct sunlight and dry air. The fungus provides moisture and minerals for the plant. The fungus also produces chemicals that, when combined with alcohol produced by the algae, form acid crystals. This acid carves tiny holes in rocks and other substances, and the fungus inserts threads (not true roots) into these holes to anchor the plant in place. The algae contain chlorophyll and synthesize sugars from carbon dioxide and sunlight, producing food for the lichen. A chemical secreted by the fungus softens the cell walls of the algae and allows nutrients to pass from the algae to the fungus.
6   There are many examples of symbiosis in nature, but lichens are unique because they look and behave differently from their components. The algal components of lichen can live independently and are recognizable as species that grow alone. The fungal components, on the other hand, cannot live apart from their partners. They can be placed in known families of fungi but are unlike any species that live independently.

7   So definite are the form, color and characteristics of these double organisms that for hundreds of years lichens were classified as one. More than 15,000 species were named. If these organisms are classified as single species, it is diffi​cult to fit them into the existing system of classification.
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	But if they are classified as separate species, these fungal species that cannot live alone seem rather strange. Lichens, then, are a splendid example of the difficulties faced by taxonomists in classifying species.

Glossary

fungus: a non-green, plant-like organism such as a mushroom that feeds on dead or living plants

algae: a simple plant that usually lives in water

chlorophyll: a chemical that enables plants to photosynthesize (use sunshine to create food)
47. What point about lichens does the author emphasize in paragraph 1?

A. They live primarily in cold places.

B. They live only in remote locations far from human communities.

C. They have adapted to a wide variety of environments.

D. They grow only on rock surfaces.

48. The word secrete in the passage is closest in meaning to ________.
A. conceal   B. produce     C. absorb     D. withstand

49. Why does the author refer to lichens as pioneers in paragraph 2?
A. Because they developed so early in the history of the planet

B. Because of their primitive structure

C. Because they grow in areas before other plants do
D. Because they are found in remote parts of the world
'

50. Which of the following sentences best expresses the essential information in the sentence below? (Incorrect answer choices omit important information or change the meaning of the original sentence in an important way.)

Lichens are often spoken of in the same breath as mosses, and some lichens are even called mosses, but true mosses are all distinctively green, whereas lichens appear in many vivid colors.

A. Lichens are associated in people's minds with mosses, but real mosses are always green, whereas lichens exhibit a variety of bright colors. 
  B. Many people know about green mosses, but only a few people are familiar with multicolored lichens. 
 C. It is widely believed that mosses and lichens are the same organism, but in fact only green lichens should be considered true mosses. 
  D. People speak of lichens and mosses as if they were the same, and they even call some lichens “mosses” because the two types of plants are difficult to distinguish.

51. Which of the following is NOT given in paragraph 3 as one of the ways humans use lichens?

A. As a means of coloring their clothing

B. As a type of medicine
C. As a source of food
D. As an ingredient in perfume

52. The word tangled in the passage is closest in meaning to ________.
A. twisted          B. damp            C. solid       D. clear

53. Which of the following is an example of symbiosis as described in paragraph 5?

A. Mistletoe, a kind of plant, grows on oak trees and harms them by extracting water and nutrients. 
B. Fish called remoras attach themselves to sharks and eat the scraps of the sharks' meals.
C. Certain types of tall grass conceal tigers because of the tigers' striped markings. 
	D. Protozoa that live in the intestines of termites digest the cellulose that the termites eat, and their waste products nourish the termites.

54. Which of the following can be inferred from the passage about the effects of direct sunlight on lichens?

A. It destroys the fungal component.

B. It is required for the fungus (n carry on photosynthesis.

C. It causes lichens to become different colors,

D. It damages the algal component.

55. The word one in paragraph 7 refers to ________.
A. One species     B. one organism      C. one year      D. one color

56. In paragraph 7, why does the author say that these species of fungi “seem rather strange”?

A. They are more complex than typical fungi.

B. Unlike other fungi, they can produce their own food.

C. They exist only as partners of algae.

D. They do not fit into any known class of fungi.

57. The word splendid in the passage is closest in meaning to ________.
A. unique       B. excellent         C. famous         D. improbable

58. Look at the four blanks marked with A, B, C, and D that indicate where the following sentence could be added to the passage, and decide on the best place where the sentence could be added.
A few enterprising lichens contain both.
Lichens are a partnership of two or more types of plants, a fungus and a type of algae. A. If you look at the lichen body through a magnifying glass, you will see that it is made up of a tangled mass of fungal strands called hyphae. B. In the upper layer of these hyphae grow colonies of another type of plant. C. These arc most commonly green algae but sometimes blue-green algae. D. 
59-63. Select phrases from the answer choices and match them to the cat​egory to which they relate. One answer choice will not be used. 

Answer Choices

A. Anchor the plant

B. Can be identified as species that live alone

C. Produce carbon dioxide

D. Provide the plant with water and minerals

E. Cannot exist independently

F. Use sunlight to provide the plant with food

Fungi

● 59__________________

● 60__________________

● 61__________________

Algae

● 62__________________

● 63__________________

Questions 64-77 are based on reading passage 2.
Passage 2
                                  The Rosetta Stone

1   Things were not going well for Ptolemy V, king of Egypt in the second century B.C. He was not one of the all-powerful Egyptian pharaohs who had ruled for many centuries. The young king was one of the Ptolemaic pharaohs who were of Creek heritage, descendants of a ruler put in place by Alexander the Great when he conquered Egypt in the 4th century B.C. The reign of Ptolemy V was 
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	a time of civil unrest and foreign incursions, and the king was unpopular. It was time for a public-relations campaign. The priests of the king wrote a short his​tory of the king's family, described his accomplishments, and explained his future plans. This message was written on stone tablets in demotic Egyptian for the common people, in Egyptian hieroglyphs for the priests, and in Creek for the ruling class. Thus, it was written in two languages but in three scripts, These tablets were posted all over Egypt.

2   Almost two thousand years later, in 1799, the French army, led by Napoleon Bonaparte, was occupying Egypt. Several years earlier, Napoleon's army had defeated the British army near Cairo and had taken over the country. However, the British fleet had destroyed the French navy and there was no way for the French soldiers to return home. During this "extended vacation," French military engineers strengthened existing defensive positions. In the port town of Rosetta (now known as EI-Rashid), the French were rebuilding an old fort when Captain Pierre-Francois Bouchard discovered an irregularly shaped slab made of dark granite (often misidentified as basalt) with three types of writings on it in three distinct bands. Besides military forces, Napoleon had also brought scientists and scholars with him. The Rosetta Stone, as it became known, was turned over to them. They quickly realized that the three scripts contained the same message. They translated the Creek quickly but could not understand the other two scripts.

3   In 1801, the French were forced to surrender. Under the terms of the Treaty of Alexandria, the British claimed the artifacts that the French had found during their occupation. The French tried to smuggle the Rosetta Stone out of Egypt in a small boat but failed. The stone was brought to London and presented to the British Museum. On the back of the stone is the painted message, "Captured by the British Army in Egypt in 1801."

4   It was through the Rosetta Stone that scholars learned how to read Egyptian hieroglyphs. The hieroglyphic alphabet, one of the earliest writing systems ever developed, had been used by the Egyptians for 3,500 years. However, it is far more complex than simple picture writing and contains thousands of symbols. After Egypt was conquered by the Romans, Latin became the dominant lan​guage, and by the fourth century A.D. no one could understand the symbols. Before the Rosetta Stone was discovered, some scholars even believed that hieroglyphs were not really an alphabet at all but were merely decorations.

5   Copies of the Rosetta Stone were sent by the British Museum to linguists all over Europe, but learning which Creek word represented which hieroglyph proved difficult. It was the brilliant French linguist lean Francois Champollion who finally unlocked the mystery. He began studying the Rosetta Stone at the age of 18. After fourteen years, he deciphered the code. In a letter to the French Royal Academy of Inscriptions, he explained the three basic assumptions that led to a translation: (1) The Coptic Egyptian language, still spoken by a small group of Egyptians, was the final stage of the ancient Egyptian language. Champollion could consult with experts on Coptic Egyptian to learn about Ptolemaic Egyptian. (2) Hieroglyphs served not only as symbols of words and ideas (ideograms) but also as symbols of spoken sounds (phonograms). (3) Certain hieroglyphs enclosed in ovals were phonetic transcriptions of pharaohs' names. Once these hieroglyphs were understood, it was easier to decipher the rest. Armed with Champollion's translation, scholars all over the world took a new interest in Egypt and laid the foundation for our understanding of this ancient civilization.

6   The Rosetta Stone is still displayed at the British Museum and is one of the most popular exhibits there, but the Egyptian government wants it back. In 2003, Dr. Zahi Hawass, director of the Supreme Council of Antiquities in Cairo and a noted archaeologist himself, formally requested its return, saying, “The British . . . should volunteer to return the stone because it is the icon of our Egyptian identity.”
	Glossary

demotic: describing a form of a language that is spoken by ordinary people 
hieroglyphs: symbols used in ancient Egypt to represent words or sounds
64. What was the original purpose of the Rosetta Stone?

A. To preserve the writing systems that were once used in ancient Egypt

B. To record the history of the all-powerful pharaohs of Egypt

C. To announce that a new king had been crowned

D. To present information about the then current ruler of Egypt, Ptolemy V

65. The word incursions in the passage is closest in meaning to ________.
A. influences    B. travelers    C. invasions    D. adventures

66. It can be inferred from the information in paragraph 1 that the author believes that ________.
A. demotic Egyptian and the form of Egyptian used by the priests were the same language

B. the priests of ancient Egypt were all members of the ruling class 
C. demotic Egyptian was a spoken language that did not have a written form 
D. ancient Greek and demotic Egyptian were different languages but used the same script

67. Why do you think the author put quotation marks (" ") around the phrase extended vacation in paragraph 2?

A. The French ruler Napoleon Bonaparte used this exact phrase to refer to the time his army spent in Egypt. 
B. The French Army was in Egypt because their fleet had been destroyed, not because they were on vacation there. 
C. The French were not really in Egypt for an extended period, but rather for a very short time. 
D. Unlike the soldiers, the scientists and scholars who came with Napoleon's army were enjoying their time in Egypt.

68. What was Pierre-Francois Bouchard's probable occupation?
A. Captain of a warship.    B. Archaeologist     C. Military engineer    D. Linguist
69. When writing about the Rosetta Stone, authors are sometimes mistaken about _________.
A. the significance of the writing on it

B. its true shape

C. the name of the place where it was discovered

D. the material it is made of

70. The word bands in the passage is closest in meaning to __________.
A. lines            B. areas           C. symbols         D. pieces
71. We can infer from the passage that the scholars mentioned in paragraph 4 _________.
A. did not think that the hieroglyphic alphabet could ever be translated 
B. were experts on the decorations used by the ancient Egyptians 
C. played an important role in deciphering the Rosetta Stone 
D. did not believe that Latin was ever the dominant language in Egypt

72. Which of the following is NOT one of the assumptions that helped Champollion to translate the Rosetta Stone?

A. That hieroglyphs represented not only words and ideas but also sounds 
B. That the three messages written on the stone did not have exactly the same meanings 
C. That some of the hieroglyphs set off from the others represented the names of pharaohs 
D. That one form of modern Egyptian was related to the ancient Egyptian language



	院    系
	
	
	

	年    级


	
	
	

	专    业
	
	
	

	姓    名
	
	
	

	学    号
	
	
	

	考试课程
	
	
	

	
	装

订

线
	
	

	
	装

订

线
	73. The phrase the rest in paragraph 5 refers to _________.

A. Pharaoh’s names    B. ovals       C. scholars       D. hieroglyphs

74. How does the author emphasize the point that is made in paragraph 6?

A. By making a comparison

B. By asking the reader a question

C. By quoting an expert

D. By summarizing the previous paragraph

75-77: Below is an introductory sentence for a brief summary of the passage. Complete the summary by writing the letters of three of the answer choices that express the most important ideas of the passage. Some of the answer choices are incorrect because they express ideas that are not given in the passage or because they express only details from the passage. 

The priests of Ptolemy V wrote a message in three scripts: Greek, demotic Egyptian, and hieroglyphic.

● 75_____________________________

● 76_____________________________

● 77_____________________________
Answer choices

A. Officials at the British Museum have so far refused to discuss the return of the Rosetta Stone to Egypt.

B. Through Champollion’s brilliant work, the Rosetta Stone was translated and scholars were able to read hieroglyphs for the first time in many centuries.

C. Despite its name, the Rosetta Stone is not actually made of stone.

D. Napoleon’s expedition to Egypt included not just soldiers but also scientific and scholarly experts.

E. The Rosetta Stone was discovered in Egypt by the French but was captured by the British and taken to the British Museum.

F. Egypt has requested the return of the Rosetta Stone.
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	首届黑龙江大学“外研杯”大学英语分项技能系列大赛——阅读大赛试题答题纸
题
号
I
II

III

总分
评卷人
分
数
10

30

60

100

__

得
分
得分

评卷人

Part I Cloze (10 points, 1 point each)
1.____________  2. ____________ 3. ____________    4. ____________ 5. ____________
6. ____________  7. ____________ 8. ____________   9. ____________ 10. ____________

得分

评卷人

Part III Reading (60 points, 1 point each for questions 26-38,  2 points each for 39-46, and 1 point each for 47-77)
Section A 

26.____________  27. ____________ 28. ____________  29. ____________ 30. ____________
31.____________  32. ____________ 33. ____________  34. ____________ 35. ____________
36.____________  37.____________ 38._____________  

39._____________________________________________________________________________ 
40._____________________________________________________________________________
41._____________________________________________________________________________
42._____________________________________________________________________________

	43.__________________________________________________________________________

44.__________________________________________________________________________

45.__________________________________________________________________________

46.__________________________________________________________________________

Section B
47.___________ 48. ___________  49. ___________  50. __________  51. __________
52.___________ 53. ___________  54. ___________  55. __________  56. __________
57.___________ 58. ___________  59. ___________  60. __________  61. __________
62.___________ 63. ___________  64. ___________  65. __________  66. __________
67.___________ 68. ___________  69. ___________  70. __________  71. __________
72.___________ 73. ___________  74. ___________  75. __________  76. __________
77.___________
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